1117806 - © 2017 Sport-Thieme GmbH

Assem bly inStrUCtion Cat.-no.: 237 0705

Volleyball
umpire’s podium

Thanks for choosing Sport-Thieme equipment!
In order to enjoy this product please read the following instructions for safety, use and maintenance before assembly and use.

Art.-Nr. 237 0705:

Volleyball-
Schiedsrichterpodest

D-38367 Grasleben - Germany
sport-thieme.com - info @sport-thieme.com

Z Qe Wafr Phone: +49 53 57 181543 - Fax: +49 53 57181 921

SPERT-THIEME

School Sports - Club Sports - Fitness - Therapy



SPZ)RT-THIEME

Assembly instruction cat.no. 2370705 School Spors - Cub Sports - Fitness - Therapy
He are oo Tean!

1. Scope of delivery

Please check the following content before assembly.
Piece Description

1 Podium, completely welded
1 Blotting board
1 Board support

Accessories

Accessoires

Piece Description

2 Weel, @ 80mm, white

4 Plastic slider, © 40mm, grey

2 Plastic cap, 50x30mm, black

2 Snap hook

1 Link chain

2 Hexagon screw, DIN 933, M12X65mm
2 Hexagon cocket cylinder crew, DIN 912,

Mé6x35mm

Cup square bolt, DIN 603, M6X16mm
Nut, DIN 934, M12

Self-locking nut, DIN 603, M6
Hexagon screwdriver, DIN 911, SW5

==~

Assembly instruction

2. Assembly of the Volleyball umpire’s podium
We recommend the assembly on a suitable surface to avoid damages of the profiles.
The following tools are necessary:

1 hammer/mallet

2 wrench/ring spanners 19 mm

a) Assembly of wheels

Stick wheels on hexagon screws M12 x 65, DIN 933 and screw nuts M12, DIN 924 so that wheels are still running freely (see
picture bottom right).




SPZ)RT-THIEME

Assembly instruction cat.no. 2370705 School Spors - Cub Sports - Fitness - Therapy
He are oo Tean!

Now put the podium on one side. Fix wheels at wheel supports welded at both sides of the podium with nuts M12, DIN 924.
Tighten nuts (see bottom pictures).

b) Fixing of plastic sliders
Use a mallet to insert 4 round plastic sliders in the uprights’ openings (see bottom pictures).

c) Fixing of snap hooks and chain

Clip snap hooks in the chain. Then hook chain with snap hooks into the rings welded at the podium. The chain has always to
be closed during use of the podium (see bottom picture).




SPZ)RT-THIEME

Assembly instruction cat.no. 2370705 School Spors - Cub Sports - Fitness - Therapy
He are oo Tean!

d) Fixing of blotting board

Place board on the support so that it is flush with the support’s outside edge (see picture bottom right).
Then stick from the top 2 cup square bolts M6 x 16, DIN 603 and screw from the bottom 2 self-locking nuts M6, DIN 985.
Tighten them (see picture bottom mid).

Stick board - projecting to the inside — on the rectangular tube profile and adjust holes. Stick from the outside 2 hexagon
socket cylinder screws M6 x 35mm, DIN 912 and screw from the inside 2 self-locking nuts M6, DIN 986. Tighten them (see
bottom pictures).

stick hexagon socket cylinder fix board projecting to the inside
screw from the outside

e) Fixing of plastic caps
Remove the belts provided at the front side of the podium. Then use a mallet to fix rectangular black plastic caps in the sup-

port openings. During use of the podium it has always to be linked firmly to the Volleyball upright by means of the safety col-
lars so that stability is guaranteed.




SPZ)RT-THIEME

Assembly instruction cat.no. 2370705 School Spors - Cub Sports - Fitness - Therapy
He are oo Tean!

f) Adjustment of platform height
Unscrew both ring bolts and remove platform. When fixing the platform in upper positions it has to be turned through 90°.
Then screw again ring bolts (see bottom pictures).

/II

unscrew ring bolt to change turn platform through 90° when
platform height changing

3. Maintenance and safety instructions

Before use check all screwed fastenings and repeat it frequently. The podium has to be protected against
overturning at any time. Link safety collars firmly to the Volleyball upright.

It is not allowed to fix additional parts or extensions which may impair the safety of the umpire’s podium.

Only use water for cleaning the surfaces. Do not use alcohol or any aggressive chemicals!

All images and texts are intellectual property of Haspo Sportgerdte GmbH & Co. KG.
Any usage requires explicit permission.



